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ttdefine ID_NUM 1
Dynamixel DxI(DXL._BUS_SERIAL1);

void setup() {
// Initialize the dynamixel bus:
// Dynamixel 2.0 Baudrate —> 0: 9600, 1: 57600, 2: 115200, 3: 1Mbps
Dxl.begin(3);
Dxl.jointMode(ID_NUM); //jointMode() is to use position mode
}

void loop() {
Dxl.goalPosition(ID_NUM, 1); //ID 1 dynamixel moves to position 1
delay(2000);
Dxl.goalPosition(ID_NUM, 1023);//ID 1 dynamixel moves to position 1023
delay(2000);

}
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ttdefine ID_NUM 1
Dynamixel DxI(DXL._BUS_SERIAL1);

void setup() {
// Initialize the dynamixel bus:
// Dynamixel 2.0 Baudrate —> 0: 9600, 1: 57600, 2: 115200, 3: 1Mbps
Dxl.begin(3);

Dxl.goalSpeed(ID_NUM, 100); //Dynamixel ID 1 Speed Control 100 setting
Dxl.jointMode(ID_NUM); //jointMode() is to use position mode
}

void loop() {
Dxl.goalPosition(ID_NUM, 1); //ID 1 dynamixel moves to position 1
delay(1000);
Dxl.goalPosition(ID_NUM, 300);//ID 1 dynamixel moves to position 300
delay(1000);

}
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void setup() {
// Initialize the dynamixel bus:

// Dynamixel 2.0 Baudrate —> 0: 9600, 1: 57600, 2: 115200, 3: 1Mbps
Dxl.begin(3);
Dxl.wheelMode(ID_NUM); //wheelMode() is to use wheel mode

}

void loop() {
Dxl.goalSpeed(ID_NUM, 400); //forward




delay(5000);

Dxl.goalSpeed(ID_NUM, 400 | 0x400); //reverse
delay(5000);

Dxl.goalSpeed(ID_NUM, 0); //stop

delay(2000);
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#tdefine NEW_ID 2
Dynamixel DxI(DXI,_BUS_SERIAL1);

void setup() {
// Initialize the dynamixel bus:
// Dynamixel 2.0 Baudrate —> 0: 9600, 1: 57600, 2: 115200, 3: 1Mbps
Dxl.begin(3);
* All dynamixels in bus will be changed to ID 2 by using broadcast ID(0xFE)
* Please check if there is only one dynamixel that you want to change ID
soksksioksktoksokskokosksokskokoksktokskokskokoksekoksokskokokskkskskokstokskokskokosk ok /
Dxl.setID(BROADCAST_ID, NEW_ID); //Dynamixel_I[d_Change 1 to 2
Dxl.jointMode(NEW_ID); //jointMode() is to use position mode
}

void loop() {
/*Turn dynamixel ID 2 to position 0%/
Dxl.goalPosition(NEW_ID, 0);
// Wait for 1 second (1000 milliseconds)
delay(1000);
/*Turn dynamixel ID 2 to position 300%/




Dxl.goalPosition(NEW_ID, 300);
// Wait for 1 second (1000 milliseconds)
delay(1000);
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LIFOFEILXL-320 22 EZ &R THH. LENILUTSEITLELS.

w | T (212 &% B 7o | i | B0 | B
0 2 Model Number Model number R 350
2 1 Version of Firmware the Vlgzgag? f?rfnr\],vare R
3 1 ID ID of Dynamixel RW 1 0 252
4 1 Baud Rate Baud Rate of Dynamixel RW 3 0 3
5 1 Return Delay Time Return Delay Time RW 250 0 254
E 6 2 CW Angle Limit clockwise Angle Limit RW 0 0 1023
P 8 2 CCW Angle Limit counterclockwise Angle Limit | RW 1023 0 1023
(F; 11 1 Control Mode Control Mode RW 2 1 2
M 12 1 Limit Temperature Internal Limit Temperature RW 65 0 150
13 1 lower Limit Voltage Lowest Limit Voltage RW 60 50 250
14 1 Upper Limit Voltage Upper Limit Voltage RW 90 50 250
15 2 Max Torque Lowest byte of Max. Torque RW 1023 0 1023
17 1 Return Level Return Level RW 2 0 2
18 1 Alarm Shutdown Shutdown for Alarm RW 3 0 7
24 1 Torque Enable Torque On/Off RW 0 0 1
25 1 LED LED On/Off RW 0 0 7
27 1 D Gain D Gain RW 0 0 254
28 1 | Gain | Gain RW 0 0 254
29 1 P Gain P Gain RW 32 0 254
30 2 Goal Position Goal Position RW 0 1023
32 2 Goal Velocity Goal Speed RW 0 2047
R 35 2 Goal Torque Goal Torque RW 0 1023
A 37 2 Present Position Current Position R
M 39 2 Present Speed Current Speed R
41 2 Present Load Current Load R
45 1 Present Voltage Current Voltage R
46 1 Present Temperature Present temperature R
47 1 Registered Instruction Registered Instruction R 0
49 1 Moving Moving R 0
50 1 Hardware Error Status Hardware error status R 0
51 2 Punch Punch RW 32 0 1023
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